ERE27FEE(FE170) 7T —N\OT4X v TTIL IR (FR) MR BFAYISR

9H3H (X) SMA%# 954 6,398YARD PAR 72

. EFRIILIHZT (Ba—R)
=t K4 g ouT IN Gross HDCP NET
1 E3] & — O E R 38 34 72 8 64
2 g2 F ¥ O BH W 39 39 78 12 66
3 H il O £RC 38 40 78 11 67
4 * B K X O m & 38 37 75 6 69
5T I BOIE A O £RC 43 38 81 11 70
N i i O £iRC 41 41 82 12 70
W T O ¥ O hha 39 41 80 10 70
£ KX B R O m & 37 41 78 8 70
E I B I O mELIML 37 41 78 8 70
10T | # & & t O /KE 42 37 79 8 71
& X & O BEES 43 42 85 14 71
F H F M O EILEE 40 39 79 8 71
F N % = O BEEG 41 40 81 10 71
kR A pE O RS 39 40 79 8 71
A H #F*F 5h O V474V R 37 43 80 9 71
B W2 E O 7+-LAMEH 36 45 81 10 71
T | E K 8 = O = M 46 38 84 12 72
B & F O HEEG 44 42 86 14 72
F OB M = O E R 41 39 80 8 72
o 5F O £RG 42 41 83 11 72
¥ BH F = O Al 42 40 82 10 72
2 W IE 17 O Y407 4— R 40 41 81 9 72
H E20) £RG 42 43 85 13 72
IhE 3 AUGE 41 43 84 12 72
[T x E & 40 44 84 12 72
26T | dt R—1h £RC 45 40 85 12 73
R {5 2 m B 43 39 82 9 73
R E F B W 41 39 80 7 73
BOHF 8 K KEDE 39 37 76 3 73
R E B FILE 42 42 84 11 73
d ¥ - AR 39 40 79 6 73
o)l & B m = 37 39 76 3 73
B H 8 X #iRC 39 44 83 10 73
g7 M O E ¥ BEES 39 46 85 12 73
3BT | F X F 5h AINE 7 44 40 84 10 74
" B AINE 7 44 43 87 13 74
T H & IE m = 44 42 86 12 74
# B & A =R E 44 43 87 13 74
= H F # E & 40 40 80 6 74
=L AUGE 42 42 84 10 74
2 T B & BEZ&C 40 44 84 10 74
42T | FE U ERX hha 46 39 85 10 75
Ml P B = BE&C 43 39 82 7 75
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ERE27FEE(FE170) 7T —N\OT4X v TTIL IR (FR) MR BFAYISR

9A3H (K) SMA# 954 6,398YARD PAR 72
. EFRIILIHZT (Ba—R)
= va K4 i ouT IN Gross HDCP NET
E B 3 FLE 41 39 80 5 75
E & & 17 #iRC 44 42 86 11 75
h & & = BEEC 42 41 83 8 75
Ci = R T = FLE 42 41 83 8 75
£ H f X FILE 43 42 85 10 75
H £ & — £RG 40 42 82 7 75
50T | —A& — B AR 43 41 84 8 76
N & £ % B W 39 43 82 6 76
NN B S BEEC 42 46 88 12 76
A ¥ B OE Y4 74=IV A 39 44 83 7 76
] m FE A FLLE 39 45 84 8 76
b & B’ A FEE 41 48 89 13 76
5T | K % § — = 44 42 86 9 77
£ & # Al /KB 45 43 88 11 77
N 7 BEEE 43 42 85 8 77
I BA V44— R 41 42 83 6 77
F £ & F KEDE 42 44 86 9 77
K O E i Hhha 40 46 86 9 77
62T | £ #F HHE AR N 50 40 90 12 78
moEgE xR & YA4U74=IV A 44 43 87 9 78
= #F L 0 E R 42 44 86 8 78
B E B #® ®iRC 43 46 89 11 78
E 8 B sh = [ 44 46 90 12 78
Bl & F A BEEG 44 47 91 13 78
68T | # B B &% H W 50 40 90 11 79
F H & 7 e ANEP] 46 41 87 8 79
X W F A AILGE 44 44 88 9 79
H & B — AILGE 43 44 87 8 79
o FE F BEEG 40 42 82 3 79
Ol R E Jr—LAMEFH 44 47 91 12 79
A H & 11 FILE 43 47 90 11 79
X T & * ®RG 43 46 89 10 79
F O F — £RC 44 47 91 12 79
fERRK H & E R 41 44 85 6 79
#® T 2 KEDE 42 48 90 11 79
E A pi:3 hna 41 49 90 11 79
80T | K kK k& & £iRC 46 43 89 9 80
Mo o m E HEZC 45 42 87 7 80
€ & B T ik B 42 45 87 7 80
83T | &§ % — ©E &iRC 50 42 92 11 81
wFH % KEDE 46 44 90 9 81
~ B — & = M 44 49 93 12 81
86T | & A 4 B KEDE 45 40 85 3 82
2/6 AT L TE R



ERE27FEE(FE170) 7T —N\OT4X v TTIL IR (FR) MR BFAYISR

9A3H (K) ShA# 95% 6,398YARD PAR 72
. EFRIILIHZT (Ba—R)
=t K4 g ouT IN Gross HDCP NET
#® A Z £iRC 46 46 92 10 82
88 1B IB #E B g 1Ip= 47 44 91 8 83
89T | &f & &2 & Y4UI4— R 45 50 95 11 84
I i E & 44 50 94 10 84
NT | A1 NIl =& B hha 51 47 98 13 85
B OH il a2 RN 47 49 96 11 85
93 H # 1 X m B2 43 50 93 7 86
94 M # B & B W 50 50 100 13 87
95 BE & B — B W 46 52 98 8 90
- /N H xR 2 RN Ri5
- N FHE OB E & Ri5
- m ok SEE £RG Ri5
- +r B B & E & Ri5
- N B B # 7+—-LAMEH Ri5
- E® N F OB £ X Ri5
- A W M = =R Ri5
- w E FL B AR Ri5
- = HF & 7 £RC Ri5
-

OMIF, KEADHIZERE,
SMARICIE. RBEEIEENFEA,
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ER27EE(E170) hET7oF— N\ T4¥ vy 7T I8 (F8) LEHR BFBISR Hifgx

9H3A (K) SMAL 264 6,398YARD PAR 72

B ERIILIHST (EI—R)
JIE sz K4 g ouT IN Gross HDCP NET
1 £ )l K #@ O ®iRG 43 43 86 22 64
2 W & & = O HEEG 41 47 88 20 68
3T # OBE g2 B O ®IRG 47 40 87 18 69
x K B O = IILEE 44 42 86 17 69
b % £ i+ O Mm =2 44 43 87 18 69
6 = 8 B — £RG 41 45 86 16 70
7 B A T =R E 49 47 96 25 71
8 ER”RKRK B — E H 41 48 89 16 73
9 H £ &% # £RC 50 46 96 22 74
10 m M E - F R 47 44 91 16 75
"MT | A &R @ § EWERE 47 48 95 19 76
B I FE 5h #iRC 43 49 92 16 76
13T | F & # X BINE 46 47 93 16 77
= H = £RC 43 49 92 15 77
H # & Y4U74=IV R 45 50 95 18 77
K B X & EWRE 42 50 92 15 77
17T | ¥ H 3GAER EIRtUMNL 48 45 93 15 78
e H 23 #iRC 45 47 92 14 78
W A hmha 46 50 96 18 78
EAN BB # Fr!)—&RE 44 49 93 15 78
2T | F H & BEEG 57 46 103 23 80
B & & & F R 44 50 94 14 80
23 & B B @ = 51 45 96 15 81
24T | & % E & Y4U24=IV A’ 50 47 97 15 82
£ IE #0 £RC 46 50 96 14 82
- o Bk {4 ¥/KE ZHERERY
-5
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TEF27EE(E170) hE7o8—N\OT1E¥F e TTIVIER (FB) LtEBR XFAYSR HiEx

9H3A (K) SMAL 244 5,593YARD PAR 72
B ERIILIHST (EI—R)
JIE sz K4 g ouT IN Gross HDCP NET
1 BE £ EEXF O AR 40 41 81 10 Al
2 n m £ € O HEEG 42 43 85 11 74
3 & [ x I O KEDE 41 44 85 10 75
4T R B F+ O 74—-LAMEH 45 45 90 14 76
8 B2 EN¥ O FLE 42 42 84 8 76
6T B & ¥ + O hha 46 41 87 10 77
E kK 3} K &iRC 41 51 92 15 77
8T K X F hmhad 46 45 91 13 78
m OHF M X KEDE 47 47 94 16 78
B A EthF #iRC 44 47 91 13 78
1T w B B F HEZC 46 47 93 14 79
= OE & K 7+—-LAMEF 44 47 91 12 79
13 = KB H 5 £RC 47 48 95 15 80
14T e T AN 48 47 95 14 81
5 BE B F = ILEE 45 51 96 15 81
16T | #%& N # F #iRC 47 43 90 8 82
% ZET B W 48 44 92 10 82
x K B F N B 47 48 95 13 82
19 m & B F i W 45 46 91 8 83
20T | # £ B F i W 48 46 94 9 85
H B » £ FEE 47 48 95 10 85
22T | % % B F = IILEE 49 49 98 12 86
T H HETF FEE 49 51 100 14 86
- mOH N F FrilE % #%(6-6-b)
- n B F+ # 5 X R i5%
- K E B = £iRC Ri5
- E E B & #iRC RI5
-E5

OmIE, REBADHIZERE,
SMARIZF, RIFFEIEFENFTE A,




ER27EE(E170) hET7oF—N\UT4X¥ vy 7T I8 (F8) LEHR ZFBISR Hifgx

9A3H (K) SIA$ 84 5,593YARD PAR 72
B ERIILIHST (EI—R)
JIE sz K4 g ouT IN Gross HDCP NET
1 w X £XEEF O = ILEE 45 44 89 19 70
2T W X BEX O 7+-LAMEFH 52 48 100 25 75
o2 HEETF KEDE 46 47 93 18 75
4 Ol HEF = IILEE 50 48 98 17 81
5T % B &8 F Y4U24=V A’ 50 53 103 20 83
2 B 5 F £ /RC 45 56 101 18 83
7 B E M F KEDE 51 51 102 17 85
8 R g F KEDE 49 59 108 21 87
- fE T REETF HEEG RI5
- X W = 7+-LAMEFH Ri5
w5

OmIF, KEA~ADHISEIRE
SMARIZIE RGEEEFENFTEA,




